GOVERNMENT OF TELANGANA FOREST DEPARTMENT To

From: K.Srinivas IFS, District Forest Officer, Siddipet,

The Prl. Chief Conservator of Forests, (HoFF) Telangana, Aranya Bhavan Hyderabad.

Rc.No.987/S6.1/2022, Dated:20.09.2023.

Sir,

Sub: TSFD – F(C) Act, 1980– diversion of 0.9459 Ha of [/]Forest Land in Kondapak RF of Siddipet Forest Division of Medak Circle for formation of approach road from Main road to reach quarry lease site of M/s Abhaya Hanuman Mining Company situated in Sy.No.54 (Govt. land), Mathapally Village Kondapaka Mandal of Siddipet Division in favour of M/s Abhaya Hanuman Mining Company– Report Submitted -Reg.

Ref: 1. M/s Abhaya Hanuman Mining Company dated.08.02.2022.-

- 2. PCCF's Rc. No. 2346/2022/FCA-1, dt. 08.03.2022.
- 3. R/o M/s Abhaya Hanuman Mining Company dated.14.06.2022.
- 4. PCCF's Rc. No. 2346/2022/FCA-1, dt. 23.06.2022.
- 5. Dist Collector, Siddipet District Lr.no.E1/3169/2022, Dt.15.10.2022.
- 6. PCCF's Rc. No. FC1/FC09/78/2022 (2346/2022/FCA-1) dt. 23.06.2022.
 - 7. DFO Sdpt Rc.No.987/S6.1/2022 Dt.03.01.2023.
 - 8. PCCF's Rc. No. FC1/FC09/78/2022 (2346/2022/FCA-1) dt. 05.10.2023.
 - 9. PCCF's Rc. No. FC1/FC09/78/2022 (2346/2022/FCA-1) dt. 10.01.2024.
- 10.PCCF's Rc. No. FC1/FC09/78/2022 (2346/2022/FCA-1) dt. 13.05.2024.
- 11.CCF Rajanna Rc.No.1154/M2/2023, Dt.22.05.2024.
- 12.DFO Siddipet Rc.No.1898/S6/2022, Dt.12.07.2024.
- 13.FRO Siddipet Rc.No.90/FCA/SDPT/2022, Dt.03.09.2024.

In compliance to the reference 10th cited, it is to submit that the Principal Chief Conservator of Forests (HoFF), TG, Hyderabad has instructed to submit the additional information. Accordingly, I am submitting the information as follows.

SI. No.	Query	Reply
1	Alternatives examined and reasons for rejection	An alternative road is available through Mathpally Village as FRO Siddipet reported there is existence of wildlife in Lakdaram RF, compt.No.238, if the approach road in question is formed in the RF, it leads to reduction of Bio-diversity and disturbance to wildlife habitation.
2	Present approach road being utilized by the UA to reach the mining area in question for how many years the mining activities are going on	
3	To furnish estimate of the extent of chain link fence damage as the road is proposed all along the boundary of the Kondapak RF	Along Kondapak RF boundary an extent of 1.34 Km chain link fence, which was recently created may get damaged. The chain link estimate cost is Rs.80.40 Lakhs

This is submitted for favour of kind information and necessary action.

Yours Faithfully

Encl: (2 sets)

2024

District Forest Officer Siddipet

Copy submitted to the Chief Conservator of Forests, Rajanna Circle, Siddipet for information.

Dispatchea 09/2024 Dated

1 a - y

CA SCHEME ABSTRACT

SÍ.		Total Outlay										
No	Item of Work	Unit	Phy	Unit Cost	Fin							
1	2	3	4	-	5							
	CA Land											
6.1	DFL(SMM)											
1	Cost of plants	На	3500	250	8.750							
1	Advance Operations	На	2.00	0.514	1.029							
2	Raising of plantations	На	2.00	1.181	2.362							
3	1st Year Maintenance	На	2.00	0.709	1.419							
4	2nd Year Maintenance	На	2.00	0.591	1.182							
5	3rd Year Maintenance	На	2.00	0.650	1.301							
6	4th Year Maintenance	На	2.00	0.715	1.431							
7	5th Year Maintenance	На	2.00	0.787	1.574							
8	6th Year Maintenance	На	2.00	0.866	1.731							
9	7th Year Maintenance	На	2.00	0.952	1.904							
10	8th Year Maintenance	На	2.00	1.047	2.095							
11	9th Year Maintenance	На	2.00	1.152	2.304							
12	10th Year Maintenance	На	2.00	1.267	2.534							
	Sub-Total				29.616							
13	Boundary pillars	No	15.00	0.105	1.575							
14	See through wall	Km	1.34	95.000	127.30							
	Sub-Total				158.49							
	Admin Cost (10%)				15.849							
	G.Total				174.340							

District Forest Officer.

SI.		Total Outlay				2024-25 2025-26			-26	2026-27		2027-28		2028-29		2029-30		2030-31		2031-32		2032-33		2033-34		2034-35		2035-36		Grand Total	
No		Unit	Phy	Unit Cost	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin	Phy	Fin
1	2	3	4		5	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	26	27	28	29	30	31	32	33
	CA Land																														
202	DFL(SMM)																														
1	Cost of plants	На	3500	250	8.750			3500	8.750																					3500	8.750
1	Advance Operations	На	2.00	0.514	1.029	2.00	1.029																							2.000	1.029
2	Raising of plantations	На	2.00	1.181	2.362			2	2.362																					2	2.362
3	1st Year Maintenance	На	2.00	0.709	1.419					2.000	1.42																			2.000	1.419
4	2nd Year Maintenance	На	2.00	0.591	1.182							2.000	1.182																	2.000	1.182
5	3rd Year Maintenance	Ha	2.00	0.650	1.301									2.000	1.301															2.000	1.301
6	4th Year Maintenance	На	2.00	0.715	1.431											2.000	1.431													2.000	1.431
7	5th Year Maintenance	На	2.00	0.787	1.574													2.000	1.574											2.000	1.574
8	6th Year Maintenance	На	2.00	0.866	1.731															2.000	1.731									2.000	1.731
9	7th Year Maintenance	На	2.00	0.952	1.904																	2.000	1.904							2.000	1.904
10	8th Year Maintenance	На	2.00	1.047	2.095																			2.000	2.095					2.000	2.095
11	9th Year Maintenance	На	2.00	1.152	2.304					l.																2.000	2.304			2.000	2.304
12	10th Year Maintenance	На	2.00	1.267	2.534																							2.000	2.534	2.000	2.534
	Sub-Total				29.616		1.029		11.112		1.419		1.182		1.301		1.431		1.574		1.731		1.904		2.095		2.304		2.534		29.616
13	Boundary pillars	No	15.00	0.105	1.575	15	1.575																							0.000	
14	See through wall	Km	1.34	95.000	127.30	. 1	127.30															-			-				_	0.000	127.300
_	Sub-Total	_			158.49		129.90		11.11		1.42		1.18		1.30		1.43		1.57		1.73		1.90		2.09		2.30	_	2.53		158.49
	Admin Cost (10%)				15.849		12.990		1.111		0.142		0.118		0.130		0.143		0.157		0.173		0.190		0.209		0.230		0.253		15.849
	G.Total				174.340		142.89		12.22		1.561		1.301		1.431		1.574		1.731		1.904		2.095		2.304		2.534		2.788		174.340

Comprehensive Scheme for Diversion of (0.9455) Ha of Forest Land in Kondapak RF for laying of road access to M/s. Abhaya Hanuman Mining company at Sy.No.54, (Govt. Land) Mathpally (V), Kondapak (M), Dist. Siddipet in favour of M/s.Abhaya Hanuman Mining company, Siddipet

District Forest Officer, Siddipet.